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(i) CH;CH(OH)COCH,; (ii) CH;-C(CH3),-CHO
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Correct the following sentences:
(1) The female students are small in number. (i1) [ want your reply.
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(i11) He is a famous thief. (iv) Columbus invented America.
(v) Our machineries conditions are good.

Fill in the blanks with appropriate preposition :

(1) He is hanker ________. name & fames.

(11) Father was happy ... with the son.

(i11) She has inclination _______ study.

(iv) Don't jump ... a conclusion so early.

(v) Learn this poem ______ heart.

Write sentences with following phrases :

(1) Beyond one’s means (ii) Dead against (iii) At a loss

(iv) Crying need. (v) In lieu of

Translate into English :
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